

Problem 9)

$$\vec{J}(\vec{r}) = J_s \delta(\rho - R) \hat{\phi} \Rightarrow \vec{J}(\vec{k}) = \int_{-\infty}^{\infty} J_s \delta(\rho - R) (\hat{z} \times \hat{\rho}) e^{-i\vec{k} \cdot \vec{r}} d\vec{r}$$

$$= J_s \hat{z} \times \int_{-\infty}^{\infty} \int_{\rho=0}^{\infty} \int_{\theta=0}^{2\pi} \hat{\rho} \delta(\rho - R) e^{-ik_z z} e^{-ik_{\parallel} \rho \cos\theta} \rho d\theta d\rho dz$$

$\hat{k}_{\parallel} \cos\theta$
 $\vec{k}_{\parallel} = k_x \hat{x} + k_y \hat{y}$

$$= J_s (\hat{z} \times \hat{k}_{\parallel}) \int_{\rho=0}^{\infty} \rho \delta(\rho - R) \left[\int_{\theta=0}^{2\pi} \cos\theta e^{-ik_{\parallel} \rho \cos\theta} d\theta \right] d\rho \int_{-\infty}^{\infty} e^{-ik_z z} dz$$

$-i2\pi J_1(k_{\parallel} \rho)$
 $2\pi \delta(k_z)$

$$= -i(2\pi)^2 J_s (\hat{z} \times \hat{k}_{\parallel}) \delta(k_z) \int_0^{\infty} \rho \delta(\rho - R) J_1(k_{\parallel} \rho) d\rho = -i(2\pi)^2 J_s R \delta(k_z) J_1(k_{\parallel} R) (\hat{z} \times \hat{k}_{\parallel})$$

$$\vec{A}(\vec{k}) = \frac{\mu_0 \vec{J}(\vec{k})}{k^2} = -\frac{i(2\pi)^2 \mu_0 J_s R \delta(k_z) J_1(k_{\parallel} R) (\hat{z} \times \hat{k}_{\parallel})}{k_{\parallel}^2 + k_z^2}$$

$$\vec{A}(\vec{r}) = \frac{1}{(2\pi)^3} \int_{-\infty}^{\infty} \vec{A}(\vec{k}) e^{+i\vec{k} \cdot \vec{r}} d\vec{k} = -\frac{i}{2\pi} \mu_0 J_s R \hat{z} \times \int_{-\infty}^{\infty} \frac{\hat{k}_{\parallel}}{k_{\parallel}^2} J_1(k_{\parallel} R) e^{i\vec{k}_{\parallel} \cdot \vec{r}} dk_{\parallel}$$

$$= -\frac{i}{2\pi} \mu_0 J_s R \hat{z} \times \int_{k_{\parallel}=0}^{\infty} \int_{\theta=0}^{2\pi} \frac{\hat{\rho} \cos\theta}{k_{\parallel}^2} J_1(k_{\parallel} R) e^{ik_{\parallel} \rho \cos\theta} k_{\parallel} d\theta dk_{\parallel}$$

$$= -\frac{i}{2\pi} \mu_0 J_s R (\hat{z} \times \hat{\rho}) \int_{k_{\parallel}=0}^{\infty} \frac{J_1(k_{\parallel} R)}{k_{\parallel}} \left(\int_0^{2\pi} \cos\theta e^{ik_{\parallel} \rho \cos\theta} d\theta \right) dk_{\parallel}$$

$= 2\pi i J_1(k_{\parallel} \rho)$

$$= \mu_0 J_s R \hat{\phi} \int_0^{\infty} \frac{J_1(k_{\parallel} R) J_1(k_{\parallel} \rho)}{k_{\parallel}} dk_{\parallel} = \mu_0 J_s R \hat{\phi} \begin{cases} \rho / (2R) & \rho < R \\ R / (2\rho) & \rho > R \end{cases}$$

G.R. 6.573-2

$$\Rightarrow \vec{A}(\vec{r}) = \begin{cases} \frac{1}{2} \mu_0 J_s \rho \hat{\phi} & \rho < R \text{ (inside)} \\ \frac{1}{2} \mu_0 J_s R^2 \rho^{-1} \hat{\phi} & \rho > R \text{ (outside)} \end{cases}$$

$$\vec{H}(\vec{r}) = \frac{1}{\mu_0} \vec{\nabla} \times \vec{A}(\vec{r}) = \frac{1}{\mu_0 \rho} \frac{\partial}{\partial \rho} (\rho A_{\phi}) \hat{z} = \frac{1}{2\rho} J_s \hat{z} \begin{cases} \frac{\partial}{\partial \rho} (\rho^2) \\ R^2 \frac{\partial}{\partial \rho} (\rho^{-1}) \end{cases} = \begin{cases} J_s \hat{z} & \rho < R \\ 0 & \rho > R \end{cases}$$